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Answer 05 questions only. There are 07 questions in the question paper.
1 a) Briefly explain the difference between Microeconomics and (05 Marks)

Macroeconomics

b)  Describe the principal objectives of macroeconomics and discuss their (15 Marks)
possible trade-offs.

2. a)  Describe in words how the multiplier and the interest sensitivity of (06 Marks)
aggregate demand affect the slope of the IS curve.

b)  Derive aggregate demand (AD) curve using IS-LM model and explain (08 Marks)
in words.
c) Explain why long-run aggregate supply (AS) schedules are drawn

vertically and short-run AS schedules are upward-sloping.
(06 Marks)

3. a) Why is the aggregate demand curve downward sloping? Briefly (05 Marks)

explain your answer.
b) ‘A change in the price level shifts the aggregate expenditure curve but
not the aggregate demand curve’. Do you agree with this statement? (08 Marks)

Explain your answer.
C) Explain the shape of the aggregate supply curve and describe how an (07 Marks,
upward sloping aggregate supply curve weakens the multiplier.

4. a) Critically evaluate the consumption theory of life-cycle hypothesis.
(10 Marks)

b) Make a comparative assessment of the consumption theories of .
absolute income hypothesis and the permanent income hypothesis. (10 Marks)



b)

b)

The demand-pull theory of inflation suggests that some inflation may
be necessary for the economy to realize high levels of output and
employment. However, the cost-push theory of inflation indicates that
inflation may be accompanied by declines in real output and
employment’. Do you agree with this statement? Explain your answer.

Why is unemployment regarded as a problem? What policy measures
might be used to address this problem?

Explain the short-run and long-run effects of an expansionary monetary
policy on the level of income and general price level using AD and AS

curves.
Explain the short-run and long-run effects of an expansionary fiscal

policy on the level of income and general price level using AD and AS
curves.

Write short notes on any Four of the following
Liquidity Trap

Crowding Out Effect

Speculative Demand for Money

The Phillips curve

Qualitative or Selective Measures of Credit Control

(10 Marks)

(10 Marks)

(10 Marks)

(10 Marks)

5 Marks for each section



